

PASCHIM GUJARAT VIJ COMPANY LIMITED CORPORATE OFFICE: RAJKOT

CIN U40102GJ2003SGC042908



Nana Mava Road, Laxminagar, RAJKOT - 360004

SCHEDULE - B

Name of Work : Construction of office building for Mavdi road S/dn & HT-3 S/dn at Punitnagar 66 kv s/s at Rajkot.

Sr. No.	Description of Items	Quantity	Unit	Rate	Amount in Rs
	Demolition of Brick work and stone masonry including stacking of serviceable materilas and disposal of unserviceable materials with all lead and lift. In Cement Mortar.	15.00	Cmt	346.00	5190.00
2	Demolition including stacking of serviceable materilas and disposal of unserviceable materials with all lead and lift. R.C.C. work	5.00	Cmt	665.00	3325.00
3	Dismentaling of sheet roofing including ridges, Hips, Valleys, Gutters etc. stacking of serviceable materilas and disposal of unserviceable materials with all lead and lift. G.l.sheet roofing.	305.00	Smt	30.00	9150.00
4	Excavation for foundation upto 1.5 m depth including sorting out and stacking of useful materials and disposing off the excavated stuff upto 50 Meter lead. Loose or soft soil	140.00	Cmt	67.30	9422.00
5	Excavation for foundation upto 1.5 m depth including sorting out and stacking of useful materials and disposing off the excavated stuff upto 50 Meter lead. Dense or Hard soil	145.00	Cmt	86.20	12499.00
6	Excavation for foundation upto 1.5 m depth including sorting out and stacking of useful materials and disposing off the excavated stuff upto 50 Meter lead. Soft rock not requiring Blasting		Cmt	152.00	20520.00
7	Excavation for foundation upto 1.5 m depth including sorting out and stacking of useful materials and disposing off the excavated stuff upto 50 Meter lead. Hard Rock	55.00	Cmt	343.00	18865.00
8	Excavation for foundation for depth from 1.5 m to 3.0 m including sorting out and stacking of useful materials and disposing off the excavated stuff upto 50 Meter lead. Hard Rock	70.00	Cmt	356.00	24920.00
9	Filling available excavated earth (excluding rock) in trenches. plinth, sides of foundations etc. in layers not exceeding 20 cm. in depth consolidating each disposited layer by ramming and watering.		Cmt	79.00	32390.00
10	Filling in foundation and plinth with murrum or selected soil in layers of 20cm. thickness including watering, ramming and consolidating etc. complete. (upto 10 ton)		Cmt	248.00	94240.00
11	Filling in plinth with sand under floors including watering ramming, consolidating and dressing complete (upto 10 ton)	80.00	Cmt	398.00	31840.00
12	Providing and laying cement concrete 1:3:6 (1-Cement : 3-coarse sand : 6- hand broken stone aggregates 40 mmnominal size) and curing complete excluding cost of formwork in Foundation and Plinth (upto 10 ton)	140.00	Cmt	2445.00	342300.00

13	Providing and laying cement concrete work 1:2:4 (1-Cement : 2- Coarse sand : 4- graded stone aggregates 20 mm nominal size) and curing complete excluding cost of formwork and reinforcement for reinforced concrete work in Slabs, landing, shelves, Balconis , Lintels, Beams, Girders and Cantilever upto floor two level. (upto 10 ton)		Cmt	3189.00	25512.00
14	Providing and laying controlled cement concrete M.200 and curing complete including the cost of formwork and reinforcement for reinforced concrete work in Foundations, footings, Base of columns and Mass concrete (upto 10 ton)	73.00	Cmt	3939.00	287547.00
15	Providing and laying controlled cement concrete M.200 and curing complete including the cost of formwork and reinforcement for reinforced concrete work in Columns, Pillars posts and struts upto floor two level. (upto 10 ton)		Cmt	5995.00	377685.00
16	Providing and laying controlled cement concrete M.200 and curing complete including the cost of formwork and reinforcement for reinforced concrete work in Slabs,landing,shelves,Balconies Lintels, Beams, Girders and Cantilever upto floor two level. (upto 10 ton)		Cmt	4947.00	598587.00
17	Providing and laying controlled cement concrete M.200 and curing complete including the cost of formwork and reinforcement for reinforced concrete work in Slabs,landing,shelves,Balconies Lintels, Beams, Girders and Cantilever upto floor two level. (upto 10 ton)		Cmt	4945.00	702190.00
18	Providing and laying controlled cement concrete M.200 and curing complete excluding the cost of formwork and reinforcement for reinforced concrete work in Staircases excluding landing upto floor two level (upto 10 ton)		Cmt	4763.00	42867.00
19	Providing TMT Bar FE 500/500D reinforcement for R.C.C. work including bending, binding and placing in position complete upto floor two level (upto 10 ton)	60450.00	Kg	45.20	2732340.00
20	Brick work using common burnt clay building bricks having crushing strength not less than 35 kg./Sq.Cm. in foundation and plinth in Cement Mortar 1:5 (1- Cement : 5 -fine sand) Conventional (upto 10 ton)	47.00	Cmt	2873.00	135031.00
21	Brick work using common burnt clay building bricks having crushing strength not less than 35 kg./Sq.Cm. in in superstructure above plinth level upto floor two level in Cement Mortar 1:5 (1- Cement : 5 -fine sand) Conventional (upto 10 ton)		Cmt	3038.00	774690.00
22	Half brick masonry in common brunt clay building bricks having crushing strength not less than 35 Kg/Sq.Cm. in Cement mortar 1:5 (1- Cement : 5 -coarse sand) in foundation and plinth in Conventional (upto 10 ton)		Smt	375.00	2250.00
23	Half brick masonry in common brunt clay building bricks having crushing strength not less than 35 Kg/Sq.Cm. in Cement mortar 1:5 (1- Cement : 5 -coarse sand) in superstructure above plinth level upto floor two level in Conventional (upto 10 ton)	85.00	Smt	407.00	34595.00

24	Providing 10mm thick cement plaster in single coat on brick/concrete walls for interior plastering on ceilings and sofits of stairs upto floor two level and finished even and smooth in Cement mortar 1:3 (1-cement:3-sand)		Smt	96.90	147772.50
25	Providing 15mm thick cement plaster in single coat on Rough (Similar)side of single or half brick walls for interior plastering upto floor two level and finished even and smooth in Cement mortar 1:3 (1-cement:3-sand)	1325.00	Smt	108.00	143100.00
26	finishing with a floating coat of neat cement slurry. (upto 10 ton)	2850.00	Smt	30.30	86355.00
27	20mm thick sand faced cement plaster on walls upto height 10 metres above ground level consisting of 12mm thick backing coat of C.M. 1:3 (1-cement : 3-sand) and 8mm thick finishing coat of C.M. 1:1 (1-cement : 1-sand) etc. complete.	2100.00	Smt	190.00	399000.00
28	Removing and scraping of old deteriorated plaster of any thickness fromm wall / R.C.C member including stacking of serviceable material and disposal of unserviceable from site of work with all lead and lift	600.00	Smt	12.30	7380.00
29	Providing cement vata (10cm. x 10 cm. size) quarter round in cement mortar 1:1 including neat cement finishing, watering etc. complete.	160.00	Rmt	17.60	2816.00
30	P & L 24" x 24" vitrified 8 mm thick tile flooring over 20 mm (average) base of cement mortar 1:6 (1 cement: 6 coarse sand) on new surface or fixing on existing flooring by adhesive material including dismentaling of existing flooring and jointed with color cement slurry including finised with flush pointing & cleaning the surface etc. complete for light shade (upto 10 ton)	420.00	Smt	885.00	371700.00
31	Providing and laying white glazed tiles 6mm thick in flooring treads of steps and landing laid on a bed of 12mm thick cement mortar 1:3 (1-cement : 3-coarse sand) finishing with flush pointing in white cement. (upto 10 ton)	210.00	Smt	631.00	132510.00
32	Providing and laying polished Kota stone slab flooring over 20mm (Average) thick base of cement mortar 1:6 (1-cement : 6-coarse sand) or L.M. 1.1.5 (1-Lime putty :1.5 - coarse sand) laid over and jointed with grey cement slurry mixed with pigment to match the shade of slab including rubbing and polishing etc. complete. 25mm thick (upto 10 ton)	540.00	Smt	608.00	328320.00
33	Providing and laying polished kota stone slab 25mm thick in risers of steps, skirting Dedo and pillars laid on 10mm thick cement mortar 1:3 (1-Cement : 3 coarse sand) and jointed with gray cement slury mixed with pigment to match the shade of slab including rubbing and polishing etc. complete. (upto 10 ton)	50.00	Smt	685.00	34250.00
34	Providing and laying 25mm thick both faces polished Kotah stone with all edges machine cut, 450mm to 600mm width and of required length (only one piece to be used) of approved quality for cup board shelves, wall partition etc. including fixing the same in masonary wall by cement mortar in three sides including curing etc. complete as directed by EIC.		Smt	780.00	78000.00

35	Providing and laying marble stone slab flooring over 20mm (average)base of cement mortar 1:6 (1-cement : 6 coarse sand) or L.M. 1:1.5(1- lime putty : 1.5 - coarse sand) laid and jointed with gray cement slurry including rubbing and polishing complete. Marble slab 25mm thick (upto 10 ton)	128.00	Smt	1315.00	168320.00
36	Labour charges quarter round edge for Kota/ Marble	728.00	Rmt	34.00	24752.00
37	Providing and laying broken chine mosaic flooring for terrace using 12 mm to 20 mm broken pieces of glazed tiles to be laid over cement mortar 1:3 to plain or slope and to be tempered to bring mortar creme out upto surface using white cement including rounding off junctions and extending them upto 15 cm along the wall, clearing with water and oxalic acid etc. as directed.	510.00	Smt	479.00	244290.00
38	Providing and fixing pre-cast Rubber Dye inter locking concrete block 60mm thick with grade of concrete M200 pnumatic compressed by mechanically pressed and as per approved design including 75mm Sand layer for levelling and filling the joint with sand in proper line and level etc complete.		Smt	607.00	303500.00
39	Providing and applying 1 coat of approved make of cement primer paint including scaffolding watering etc.complete as directed by EIC	2100.00	Smt	19.50	40950.00
40	Finishing wall with weather proof exterior emulsion paint on wall surface (two coats) to give an required shape even shade after thoroughly brushing the surface to remove all dirt, and remains of loose powdered materials.etc complete	2100.00	Smt	72.00	151200.00
41	Applying two coats of Birla or Asian acrylic lapy (putty) & two coats of primer of approved brand and manufacture on new wall surface to give an even shade including thoroughly brushing the surface free from mortar dropping and other foreign matter and sand papered smooth.	2850.00	Smt	47.40	135090.00
42	Wall painting (two coats) with plastic emulsion paint of approved brand and manufacture on undecorated wall surface to give an even shade including throughly brushing the surface free from mortar droppings and other foreign matter and sand papered smooth.		Smt	50.70	67177.50
43	ceilings and sloping roofs painting (two coats) with plastic emulsion paint of approved brand and manufacture on undecorated wall surface to give an even shade including throughly brushing the surface free from mortar droppings and other foreign matter and sand papered smooth.		Smt	54.10	82502.50
44	Painting Two coats (excluding priming coat) on previously printed steel and other metal surface with synthetic enamel paint, brushing to give an even shade including cleaning the surface of all dirt, dust and other foreign matter.	100.00	Smt	55.40	5540.00

45	Providing and fixing window having extruded aluminum Colour anodized section frame main outer size 63.50 x 38.10 x 1.95 mm(of Jindal Section no:4605,@ Wt 1.094 Kg / Rmt), horizontal two track member size 61.85 mm x 31.75 mm x 1.20mm (of Jindal Section no: 8687 @ wt.of 0.695 Kg/mt), vertical member of size 61.85 mm x 31.75mm x 1.30 mm (of Jindal Section no:8758 @ wt.of 0.0.659 Kg/mt) with sliding shutters of horizontal member size 40mm x 18mm x 1.29mm (of Jindal Section no:8949 @ wt.of 0.456Kg/mt), vertical member of size 40mm x 18mm x 1.29mm (of Jindal Section no:8947 @ wt.of 0.456Kg/mt/ Section 8948, @ Wt. 0.457 Kg/mt) with 5 mm thick transparent bronze colour tinted float glass with powder coated aluminum fittings and fixtures and transparent silicon sealant glass fixing to frame as per details etc	40.00	Smt	2022.00	80880.00
46	Providing fitting & fixing fully glazed/ partly glazed double leaf anodised aluminium entrance door using extruded section fabricated by standard manufactures with framing 10.15cm x4.45cm rectangular section & door shutter made from 10.15 cm x 4.45cm aluminium bottom section top & vertical section 6.35x3.80cm size using 5.5mm thick "Triveni"or HB4 plain glass with glazing deep rubber gasket with locking arrangement(Godrej type) with all fixtures & fastenings of anodised section with aluminium bedding floor spring mounted door closer with all labours & materials etc. Complete as per drawing and as directed by E.I.C	20.00	0.00	3510.00	70200.00
47	Providing & fixing fittings in position fully glazed aluminium (alloy - HE - 9 WP) frame partition using aluminium 'c' section in the dimensions of 23.6mmx21.8mm to be used for top, bottom and side ends aluminium 'H' sections in the dimensions of 23.6x60mm outer dimensions to be used for intermediate support, the vertical & horizontal members to be joined and with concealed aluminium angle cleat panel to be made from 5 mm thick HB4 or "Triveni" make plain glass fixed with glazing clip rubber gasket with aluminium bedding of required size incl. all fixtures & fastenings including Providing anti glare sun control film as per drawings & details with rubber on all four side for air tight fitting, wastage labour etc complete as directed by EIC	68.00	Smt	2600.00	176800.00
48	Providing & fixing hot pressed phenol bonded, exterior type solid flush door 30mm shutter made by approved brand & as per I.S.I. standard with water resisting plywood facing and 1mm thick laminated sheet on both side of door & teak wood leaping all-round including 100X75mm. teak wood frame.If necessary with glass looking window with T.W. batten and polishing /Colour .Rates are with fixtures & fastening also with 3 NO. of 100mm. long butt or parliamentary hinges on each flap of double shutter & 150mm. long hinges for single shutter and 3 NO. of M.S. flat hold fast grouted in C.C. (1:2:4) on each side of frame, 3 coats of oil painting of approved shades make etc., complete as per drawing & as directed by E.I.C.	5.00	Smt	3580.00	17900.00

49	Providing and fixing 28mm thick fiber glass shutter with 1.5 to 2.0 mm thick fibre extinguishing grade FRP skin in depressed panel design having extra reinforcement on sides and edges and in Gel coat finish. The core of the sutter is to be filled up with injected fibre exitinguishing grade polyurethane foam done in situ along with embedded wooden pieces for stiffening and also for taking hinges and fixtures. The whole shutter to be water proof, weatherproof, termite proof and resistance to mild acid / Alkali, including cost of hinges, necessary screws and alluminum fixtures and fastening.	30.00	Smt	2293.00	68790.00
50	Providing and fixing standared extruded of alluminium section of size 63mm x 38.10mm x 1.2mm (Jindal Section :2434, @ Wt. 0.643 Kg/mt) with colour anodized alluminium frame for ventilation with 5 mm thick frosted glass as details etc complete for Ventilation		Smt	1386.00	6930.00
51	Providing and fixing in position callapsible steel shutters with vertical channels 20 x 10 x 2 mm braced with flat iron diagonals 20 x 5 mm size with top and bottom rails of T_rin 40x 40 x 6 mm with 38mm dia, steel pulleys complete with bolts, nuts, locking arrangements, stoppers handles including applying a priming coat of read lead paint. (upto 10 ton)		Kg	36.44	12389.60
52	Providing and fixing rolling shutters of approved make made of 80 mm wide M.S. laths inter-locked together through their entire length and jointed together at the ends by end locks mounted on specially designed pipe shaft with bracket plates, guide channels and arragements for inside and outside locking with push-pull operation including the cost of hood cover and spring etc. complete. Shutters having width 3.5 M. and above	17.00	Smt	4362.00	74154.00
53	Providing and fixing post and pipe railing as per detailed drawing including 3 coats of painting to steel works complete. (upto 10 ton)		Rmt	1068.71	42748.40
54	Providing and fixing MS grills or required pattern to frames of windows etc. with MS flats at required spacing and frame all round square or round bars with round headed bolts and nuts or by screws/welding with two coats of oil paint including a priming coat etc complete as directed by EIC. Plain grill.	1000.00	Kg	68.85	68850.00
55	Providing and fixing M.S conduit pipe gate/grill gate along with wicket gate from appropriate secton and M.S.flat,square bar, M.S sheet and grouting the pivot as per drawing and design with necessary brackets, hold fasts, locking arrangement on top & aldrop on both the side.		Kg	77.60	38800.00
56	Steel work welded in built up sections framed work including cutting hoisting, fixing in position and applying a priming coat of red lead paint In beams and joists, channels angles tees, flats with connecting plates or angle cleats as in main and cross beams Hip and jack rafters, purlins connected to common rafters and the like, with Two Coats of Oil paint	1200.00	Kg	61.88	74256.00

57	Providing corrugated G.I. sheets roofing fixed with glavanished iron J or L Hooks, Bolts and nuts 8mm diameter with bitumen and G.I. limpet washer. filled with white lead complete-excluding the cost of purlins, Rafters and Trusses. 0.80MM THICK		Smt	767.00	69030.00
58	P & F steel cupboard shutter of 20 gauge with steel frame & fixing the frame with brick masonary including locking arrangement with 1 coat of primer (red oxide) i.e asian, dulux or its equivalent and 3 coats of approved oil paint i.e asian, dulux or its equivalent etc. complete as per requirement and instruction of EIC.	75.00	Smt	2150.00	161250.00
59	Providing & fixing of wall cupboard shutters using 18MM plywood, decorative laminate of approved shade & brand on both the side, beading pati, all hardware materials good quality of locking arrangement etc. Complete including materials and labour as direction of ELC.		Smt	3800.00	190000.00
60	Providing and fixing wall cupboards, of 16" depth using 18MM plywood for sides & shutters, 6MM plywood at backside laminate of approved shade for all sides including materials such as beading strips, handles, magnets, adhesive having good quality of locking arrangements incl. labour complete in all respect as directed by EIC.	37.00	Smt	5100.00	188700.00
61	Providing erecting and fixing double coated Syntex PVC. (ISI) water tank of required capacity each with all necessary fittings and connection etc. complete on terrace.	3000.00	Litre	4.60	13800.00
62	Providing laying and jointing in true line and level 15mm dia. U.P.V.C. Pipe (SCH- 40) for cold water including fittings make PRINCE / SUPREME / ASTRAL / FINOLEX or equivalent as approved by Engineer In Charge. Pipe shall be fixed on the wall with the help of clamp at every two metre C/C or shall be concelled as directed including necessary fittings etc. including testing of pipe and joints and fixing the same with adhesive solvent, including cost of all materials.	150.00	Rmt	84.90	12735.00
63	Providing laying and jointing in true line and level 25mm dia. U.P.V.C. Pipe (SCH- 40) for cold water including fittings make PRINCE / SUPREME / ASTRAL / FINOLEX or equivalent as approved by Engineer In Charge. Pipe shall be fixed on the wall with the help of clamp at every two metre C/C or shall be concelled as directed including necessary fittings etc. including testing of pipe and joints and fixing the same with adhesive solvent, including cost of all materials.	100.00	Rmt	107.00	10700.00
64	Providing laying and jointing in true line and level 32mm dia. U.P.V.C. Pipe (SCH- 40) for cold water including fittings make PRINCE / SUPREME / ASTRAL / FINOLEX or equivalent as approved by Engineer In Charge. Pipe shall be fixed on the wall with the help of clamp at every two metre C/C or shall be concelled as directed including necessary fittings etc. including testing of pipe and joints and fixing the same with adhesive solvent, including cost of all materials.	50.00	Rmt	139.00	6950.00

65	Providing laying and jointing in true line and level 40mm dia. U.P.V.C. Pipe (SCH- 40) for cold water including fittings make PRINCE / SUPREME / ASTRAL / FINOLEX or equivalent as approved by Engineer In Charge. Pipe shall be fixed on the wall with the help of clamp at every two metre C/C or shall be concelled as directed including necessary fittings etc. including testing of pipe and joints and fixing the same with adhesive solvent, including cost of all materials.	50.00	Rmt	173.00	8650.00
66	Providing laying and jointing in true line and level 50mm dia. U.P.V.C. Pipe (SCH- 40) for cold water including fittings make PRINCE / SUPREME / ASTRAL / FINOLEX or equivalent as approved by Engineer In Charge. Pipe shall be fixed on the wall with the help of clamp at every two metre C/C or shall be concelled as directed including necessary fittings etc. including testing of pipe and joints and fixing the same with adhesive solvent, including cost of all materials.	20.00	Rmt	229.00	4580.00
67	Providing, laying and jointing in true line and level 110 diametre U.P.V.C (Type B) conforming to IS 13592-1992 with one end plain and other end socketed with rubber ring, & fittings conforming to ISI 14735-1999 of approved make for drainage system pipe line, pipe shall be jointed with each other with rubber lubricant, pipe shall be fixed on wall using of PVC clamp of the size 110 mm diametre x 149 mm length x 145 mm heigh at every 2000 mm center to center or shall be concealed in walls as directed including necessary fittings such as bends, shoes etc. including testing of pipes and joints and jointed with adhesive solvent cement including cost of all materials.	100.00	Rmt	525.00	52500.00
68	Providing, laying and jointing in true line and level 160 diametre U.P.V.C (Type B) conforming to IS 13592-1992 with one end plain and other end socketed with rubber ring, & fittings conforming to ISI 14735-1999 of approved make for drainage system pipe line, pipe shall be jointed with each other with rubber lubricant, pipe shall be fixed on wall using of PVC clamp of the size 160 mm diametre x 210 mm length x 196 mm heigh at every 2000 mm center to center or shall be concealed in walls as directed including necessary fittings such as bends, shoes etc. including testing of pipes and joints and jointed with adhesive solvent cement including cost of all materials.	20.00	Rmt	919.00	18380.00
69	Providing and fixing to wall ceiling and floor 10.0 Kg. F/Cm2 working pressure poluthene pipes of the following outside Dia. Low densidy, complete with special falnge compression type fittings, wall clipsetc. including making good the wall ceiling and floor.50mm	20.00	Rmt	151.00	3020.00
70	Providing and fixing to wall ceiling and floor 10.0 Kg. F/Cm2 working pressure polythene pipes of the following outside Dia. Low densidy, complete with special falnge compression type fittings, wall clipsetc. including making good the wall ceiling and floor. 75mm	20.00	Rmt	252.00	5040.00

71	Providing and fixing to wall ceiling and floor 10.0 Kg. F/Cm2 working pressure poluthene pipes of the following outside Dia. Low densidy, complete with special falnge compression type fittings, wall clipsetc. including making good the wall ceiling and floor. 110 mm	50.00	Rmt	320.00	16000.00
72	Providing and fixing wsh down water closet (European type, W.C. Pan) with integral P or S trap including jointing the trap with soil pipe in Cement Mortar 1:1 (1-Cement : 1-fine sand) (Seal and cover to be measured and paid for separately) vitreous China Pattern	7.00	Each	882.00	6174.00
73	Providing and fixing plastic seat and cover for wash down water closer with C.P. brass hinges and rubber buffers. Black plastic seal and cover.	7.00	Each	336.00	2352.00
74	Providing and fixing screw down bib taps of following size.(B) Brass chromium plated screws down Bib Tap. 15mm dia.	7.00	Each	216.00	1512.00
75	Providing and fixing brass screw down stop tap.15mm dia. With jet spray	7.00	Each	337.00	2359.00
76	Providing and fixing 12.5 Litres high level Cl. flushing cistern with A pair of C.I. or Mild steel brackets, womplete with fittings such as syplionic arrangement, 15mm nominal size brass ball valve with polythene float, lever G.I. China (60 cm.) and pull union and couplings for connections with inlet, outlet and overflow pipes etc. including cutting holes in walls and making good the same	7.00	Each	1035.00	7245.00
77	Providing and fixing washbasin with single hole for pillar tap with C.I. or M.S. brackets painted white including sutting holes and making good the same but excluding fittings. Vitreous China: Flat Back washbasin 550 mm x v 400mm size.	7.00	Each	949.00	6643.00
78	Providing and fixing pillar tap, capstan head, screw down high pressure with screws, shanks and back nuts. 15mm dia.	7.00	Each	356.00	2492.00
79	Providing and fixing brass screw down stop tap. 15mm dia.	7.00	Each	237.00	1659.00
80	Providing and fixing C.P. brass waste for washbasin or sink. 40mm dia.	7.00	Each	103.00	721.00
81	Providing and fixing Urinal of approved quality including connection with trap and with integral longitudinal flush pipe. Squating plate pattern white earthenware 550mm x 300mm.	6.00	Each	980.00	5880.00
82	Providing and fixing Gun metal check or non-return fullway wheel valve. 40mm dia.	2.00	Each	775.00	1550.00
83	Providing and fixing S.W. gully trap with C.I. grating brick masonry chamber and water tight C.I. cover with frame of 300mm x 300mm size (inside) with standard weight. Square mouth traps. 100mm x 100mm size P type. (upto 10 ton)	7.00	Each	1332.00	9324.00
84	Providing and fixing cast iron (Spun) Nahni trap of the following nominal diameter of self cleaning design with C.I. screaed down or higned grating including cost of cutting and making good the walls and floor 100mm inlet and 50mm outlet. 100mm dia.	15.00	Each	382.00	5730.00

85	Constructing brick masonry chamber for underground C.I. Inspection chamber and bends with briocks having croshing strength not less than 35Kg. Cm2 in C.M. 1:5 C.I. cover with frame (Light duty) 455mm x 610mm intenal dimensions total weight of cover with frame to be not less than 38Kg. (Wt. of cover 23 Kg.) and Wt. of frame 15Kg.) (R.C.C. top slabe with 1:2:4 mix (1-cement :2- coarse sand :4-graded stone aggregate 20mm size) foundation concrete 1:5:10 inside plaster 15mm thick with cement mortar 1:3 finished smooth with a floating coat of neat cement on walls and bed concrete etc. complete. Inside dimensions 455mmx 610mm and 450mm deep for single pipe line. (upto 10 ton)	5.00	Each	2560.00	12800.00
86	Supplying and fixing C.I. cover 300mm x 300mm without frame for Gulley trap (Standard pattern) te weight of cover to be not less 4.53 Kg.)	3.00	Each	553.00	1659.00
87	Drilling of borewell of 165 mm dia. By machine in all kind of soil, sand, clay, soft rock & hard rock etc complete truly vertical with all equipments and labours etc complete as directed by E.I.C. 0 to 150 M depth	120.00	Rmt	195.00	23400.00
88	Providing fixing and lowering heavy duty 10 KG / CM2 P.V.C . suitable for 165 mm dia borewell including necessary coupling connector, solution etc complete as directed by E.I.C.	15.00	Rmt	338.00	5070.00
	Providing and lowering 32 mm dia approved quality HDPE Pipe for requied length fixing with steel nipple etc complete including testing.	100.00	Rmt	103.00	10300.00
90	Providing and joining the flat copper cables sufficient for.7.5 HP pump set etc. complete as directed by E.I.C. [B] 6 MM flat cable	120.00	Rmt	97.50	11700.00
91	Providing and Lowering the Jyoti / Amrut make submersible pump of 1HP in bore well etc., completed as directed including ISI approved MEI type oil immersed auto transformer starter commissioning and testing to required delivery head. (ALL OTHER ACCESSORIES WILL BE PAID SEPERATELY).	1.00	No	6000.00	6000.00
92	Providing and fixing top cap for 150 mm dia pipe with clamps, socket & other accessories required for completing the job as directed by E.I.C.	1.00	Job	585.00	585.00
	Providing & Fixing panel Board with a main fuse connection, meter, including all wiring / earthing complete as directed by E.I.C.	1.00	Job	1500.00	1500.00
94	Providing and fixing 1.20 Metre high fencing with 2.0 Metre long M.S. Angle posts 40mm x 40 mm x6 mm and oil painting 3 coats fixed at 2.5 Mt,C/c. with five Horizontan lines and two diagonals of galvanised steel barbed wire weighting 9.38 Kg. per 100 Metre, strained and fixed to posts with G.I,staples including fixing the postsin ground with 0.5 M x 0.5.M x 0.5 M. block in C.C1:5:10 etc complete.	180.00	Rmt	310.00	55800.00
ln wa	order One Corer Nine Labb Forty eight They good sine by and	civty sight s	(A)	TOTAL Rs.	10948968.50
III WO	ords: One Corer Nine Lakh Forty eight Thousand nine hundred (B) Bidder's C			aisa only. (A Below of (A))
	(b) bludel 5 C			I (C = A + B)	
	(D) Goods & Service Tax (D = C x 0	• •			
		nd Total Inclu		(E = C + D)	
Note	- Price bid to be quoted online only, physical price bid will n	ot be consid	ered.		

o price preference sha	Ill be given on any account. All tenders shall be evaluated on the basis of firm price	e End cost
ncluding GST & Cess.		